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TEST DATA
o ca N/ 2 8.000
o sa N/ 2 160.000
T ca N/ 2 0.350
- 15
M KN m 4794.06
kN 718.60
kN 1316.10
r 100.00
(3 ) Nt 2
rsl 85.00
rs2 75.00
rs3 0.00
D D29 6.424(cm2)
( ) 1 44
> N 88
> As 2 565.312
oc= 7.128 O ca= 8.000 :0OK
os= 159261 O sa= 160.000 :OK
T = 0.542 T a= 0.350 : NG
)
S
- D29
. 88
- 1 =121.38
2 =107.10

75
85




/) 46

() 109.27

OoC OS T
) (9 (N/ %) N/ %) N/ %)

D13 1.267 11,656.4 15.684 649.695 0.596
D16 1.986 18,271.2 12.591 434.287 0.575
D19 2.865 26,358.0 10.518 313.477 0.561
D22 3.871 35,613.2 9.052 240.049 0.553
D25 5.067 46,616.4 7.883 188.946 0.546
D29 6.424 59,100.8 6.957 152.976 0.541
D32 7.942 73,066.4 6.202 126.764 0.538
D35 9.566 88,007.2 5.584 107.249 0.536
D38 11.400 104,880.0 5.039 91.538 0.533
D41 13.400 123,280.0 4570 79.134 0.532
D51 20.270 186,484.0 3.506 54.245 0.529
8.000 160.000 0.350




bo 150 ()
Ns 2 ()
d |D16 - 1.986(cm2)
S 1316.1 (kN)
Ao 7944 ( ?
P 0209 () 0.20%
P 020% OK
Sc 404.4 (kN)
Sh 1104.6 (kN)
(Sc+sh) Sr 1509.0 (kN)
Sr S OK
bh=-\/mt
=/ x 1000.00x 1000.00
_ 17725 () )
rs= (rsl+rs2)/2
_ 8000 ( ) 71N
dl=r-rs
- 2000 ( )
de= bh - d1
= 15725 ( )
) Ve
Ad= by bh
= 150 x 17725 bh
= 2658750 ( 3 —
P = Ao/Ad
= 794.4 / 265875.0
= 0.00299
- 0.299%  0.20% OK

rs

di_|

de

bh




(Sc)
Sc=a T ca bhjde
= 0.50x 0.35x 1772.5x 0.8290x 1572.5

= 404361 (N)
= 404.4 (kN)
a = 0.50
T ca
bh:
de:
J:
j= 1-k/3
= 1-0.5128/3
= 0.829
k=A/np® +2 np -np
=7/ 0.2699x 0.2699+2x 0.2699 -0.2699
= 0.5128
= n As/(m rd)
_ 15x 56531.20
" 71 x 1000.0x 1000.0
= 0.2699
n: n=15
As: As=56531.20(m )
r: r=1000.0( )
(Sh)
o sa de A
Sh= bo/j
_160x 1572.5x 794.40
- 150 / 0.8290
= 1104621 (N)
= 1104.6 (kN)
O sa = 160(N/ 2)
de: =15725( )
bo: =150( )
Ao: =794.4( 2)
Sr= Sc + Sh

404.4 + 1104.6
1509.0 (kN) S

1316.1 (kN) OK





